ITI Wireman 2nd Year Module 6 UG cable

(1). What is the voltage rating of Super tension cables? | JUR M Dhadl Pt

dlecol ATT R G2

(A) Upto 1100 VOLT
(B) Upto 11000 VOLT
(C) 22 KV to 33 KV
(D) Beyond 132 KV

Correct Answer : C

(2). Which are the types of pressure cables? | USR had (g UHR %aﬁ%?
(A) Oil filled and gas pressure cables | G{\IIEFTW 3R NG IR & Gad had

(B) Belted cables and screened cables | decs had GﬁT Th1 dTcl e d

(C) Htype and SL type cables | H UhR GﬁT LU UDPR B

(D) Htype and belted cables | H UhIR GﬁT e S HEd

Correct Answer : A

(3). Which conductor material is used for underground cable? | IR NED
foTe fore e’ ARt &1 IUTRT foreT ST 872

(A) ACSR
(B) Aluminium | ScgHIT=aH
(C) Steel | 3T

(D) Nichrome | TTIShIH

Correct Answer : B



(4). What is the name of the U.G. cable joint? | U.G WGVE_C’W:IWW%?

(A) Tee joint | EFT\_II'\II%_C'

(B) Straight through sleeve joint | @\E’?{\ﬁaﬁlﬁf

(C) Epoxy straight joint | Wﬁwm

(D) Tri-furcating end connection | F-fodsd Ry pAaH

Correct Answer : B

(5). Which part of the underground cable is protecting the metallic sheath against
corrosion? | HIAFTd Had P DI T HRT YT ST DI ST AT 82

(A) Bedding | ST&T
(B) Armouring | 3T
(C) Lead sheath | TIS RMY
(D) Serving | TfdT

Correct Answer : A

(6). Which method of cable laying is suitable for congested areas? | ﬂﬂ%’lﬂ@’aﬁ

&=l & o Fhad fos™ &t dF 9 fafd Suged 8?2
(A) Duct pipes | Sdc UIsU



(B) Racks in air | Wﬁ%
(C) Directin ground | W SHA H
(D) Along buildings | smwﬁ%mu

Correct Answer : A

(7). What is the purpose of serving layer in UG cable? | UG Pad H FiaT FIR I

RELUKUIEE
(A) To protect armouring from atmosphere | ddd CARIGICRUREEIS %%‘I'Q
(B) To protect metallic sheath against corrosion | Ulq {TARUT P HERUT Y T

& ferg

(C) To protect the cable from mechanical injury | HEd DI iHAD dle J gIH &

ferg
(D) To protect the cable from moisture | Wﬁﬁ@ﬁﬁ%%ﬁ

Correct Answer : A

(8). Which cable laying method is used in generating station? | SR - H

fora had fas™ ! fafd &1 IuanT fosar ST 62
(A) Along buildings | SHRAI & T

(B) Directin ground | TT& STHIA H

(C) Racks in air | AT & ¥&b

(D) Inducts | 1SdC

Correct Answer : C



(9). Which distance in parallel is to be maintained between a power and

communication cable to avoid interference? | WW@W%%’QW 3R
IR Hed & s GHMIGR B I U1 g1 ST I8! M8 T2

(A) 10cm

(B) 50cm
(C) 100 cm
(D) 200 cm

Correct Answer : B

(10). Which test is conducted to locate the faults in UG cable? | UG HId H TEt

&1 Udl A & fow 14 A1 ufieur foba Sirar 82

(A) External growler test | dISQnI A3 R tlﬁ&‘I'UT

(B) Insulation resistance test | s—ﬂﬁwuﬁlﬁaqﬁ&m
(C) Breakdown voltage test | S SI3 dlce ol URI&TT
(D) Loop test | ﬁqqﬁ&m

Correct Answer : D

(11). What is the name of cable joint? | HEd \)1-\I5 D[ [TH H] %?

(A) T-joint | TT-SIIS



(B) Aerial tap joint | TR %q\_rh_s'
(C) Straight joint | TSNS

(D) Double cross tap joint | S&d wTH%qwﬁs

Correct Answer : A

(12). Which material is used for metallic sheathing in underground cable? |

YRTd el H Urq & MR & fore fober et o1 QU@ foban wirell &2
(A) Copper | Tl

(B) Mica | HIgPI

(C) Nichrome | T3 IH

(D) Lead | GiIS

Correct Answer : D

(13). Which is the classification of underground cable according to their insulation

system? | SR YU & SR YPRTA Had BT GBI DI T g2
(A) Single core cable | fTa PR Hed
(B) XLPE cable | XLPE @

(C) Low tension cable | @ H d-lId HEd
(D) Super tension cable | W%QHW

Correct Answer : B

(14). What is the advantage of Vulcanised Indian Rubber? | Wg@'ﬂ:{
I&R BT T BT 87

(A) Safe temperature is high | RI&d dTIHM 3IfIH g




(B) Hygroscopic | B'I%"Jﬁ@"ﬁ%
(C) Greater mechanical strength | 3P T 3w Tifie Tfad

(D) High conductivity | 3= dlcidh dl

Correct Answer : C

(15). Which is the common fault likely to occur in underground cable? | SHH®

2 e H 81 I HIE AN DI A 82
(A) Open circuit fault | 31U gfdhe Bice
(B) Ground fault | 31 &Y

(C) Short circuit | TTE Tfhe

(D) Leakage fault | Topol GIY

Correct Answer : B

(16). What is the width of trench for laying single cable? | T pad [T &
foTg WTE @1 AISTs fahdH! 82

(A) 25cm
(B) 30cm
(C) 35cm
(D) 40cm

Correct Answer : C

(17). Why bedding is used in underground cable? | @mmﬁéﬁmw
ITINT 1 foheT STt 82

(A) To protect armouring | Wﬁ?%%ﬁﬂ



(B) To protect mechanical injury | W@E@ﬁﬁ%%ﬁ

(C) To protect the metallic sheath against corrosion | ¥Ulq 3TARUT Y HEROT
g & fog

(D) To absorb moisture | 3T&dl ! IRA- & ferw

Correct Answer : C

(18). What is the name of part marked as 'X'? | ’X’%Wﬁﬁﬁ%ﬁ HAT hT ATH KT

87

(A) Conductor | HEFX
(B) Bedding | SfST
(C) Armouring | STHRT
(D) Serving | gfd

Correct Answer : A

(19). Which insulating material is used as hot pouring compound for making joints

in underground cable? | “-‘ljilTlﬁab@Iﬂ ff\vl\ls S %Wﬁ@ﬂﬁﬁﬁﬁ%%
w0 ¥ oy 3ga= At &1 I fhar Sra 82

(A) Polyamide hardener | qﬁ%ﬂm@%’ EIBF:R
(B) Cast resin compound | PHRE I il

(C) Epoxy cast resin compound | WWWW




(D) Bituminous compound | %@&IWW

Correct Answer : D

(20). Which is used to terminate the cable ends in a panel board? | atl?fﬁﬁéff

B RRI DI THIE B b (o8 [T SUTNT fhar Srar 82
(A) Saddles | TS

(B) Thimbles | foFacq

(C) Raceways Iwa_\?f

(D) Grommets | AHCH

Correct Answer : B

(21). What is the reason that the voltage regulation of UG cable system is better

comparing to OH line system? | T HRUI & fob UG Had YUTTel T dlecol
fAf e on AT WUl ) gaT H dgaR 82

(A) Low voltage drop | %Y dlecol I TRTAC
(B) No corona effect | ﬁéﬁ?ﬁqm:@
(C) Low inductive loss | H gTSfacd BIf
(D) No skin effect | a?ﬂtl?ﬁ?gm-ﬂa:lﬁ

Correct Answer : C

(22). What is the full form of XLPE cable? | XLPE WW@WW%?

(A) Cross Length Poly Ethylene
(B) Cross Linked Poly Ethylene

(C) Cross Line Poly Ethylene



(D) Cross Line Paper Ethylene

Correct Answer : B

(23). What is the name of the cable laying method? | Had 9 B! Al BT

(A) Laying into ducts | Sac | feaT T

(B) Laying direct in ground | STHIA | e fesTT
(C) Laying along building | Haq & Y fasmT
(D) Laying on racks in air | Wﬁwtﬁ%ﬁﬂ%{

Correct Answer : A

(24). What is the inter axial spacing between two cables laying in same trench? |

TH g1 \Ts § 9} ) haal & o 3R SHeflg g /g2

(A) 20cm

(B) 35cm
(C) 15cm
(D) 40cm



Correct Answer : A

(25). What is the name of part marked as 'X'? | ‘X’ %Wﬁﬁﬁ%ﬁ HAT hT ATH KT

(A) Bedding | sfeT
(B) Conductor | PSR
(C) Armouring | STHRT
(D) Serving | gfdm

Correct Answer : D



